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Unbounded Operators — Part s

For each (X,J < :DQT) with

X,—~> 0 and Txh—>y,

T:-X2 9(:T> ——> Y closable <:>

we have: y= J .
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Example: X — l (|N, @) ’ e, 851 C5 canonical unit vectors
h (001101 OI>

T: X22() — C , D(T) = span {‘fa | je INZ

e >

> N& — >N
J J

”T” = Sup ||T><||C > sup |T€J| = sup J = O unbounded
X, =4 JeN JEN operator!
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Closable operator? not confinuous at ()

Choose (X,,) < :DQT) with  X,=> 0 and TX, 7> 0.

Choose ¢ >0 and subsequence (th) such that: |TX"u > €
. th k—>ao\ 0
Define: - Txnk >
Then: Tzk = 1 forall keN For eaoh (x,) < D(T)  vith
\\)’ X,=> 0 and Tx,—>Y,
::_> T is not closable we have: y=0.




